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That he rented a cow from her and then he married her

OVERVIEW

The X3 explained that the query of X1 72 "7 was in a case when he rented a cow
from a woman and then he married her; is he now! considered a w"w or a »xw.?
Our m»do1n explains that the query may be posed slightly different,
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And it would have been justified to say that the query was that he borrowed a
cow from her (not rented); but the reason he said rented is because he mentions

the more frequent case (which is M°5w); people are more apt to rent out a cow (for a fee),
than to lend it (for free).

SUMMARY
The query of ""27, can equally be by 79°kw as by mow.

THINKING IT OVER
Where is there a greater w17°1 that the post marriage state revokes the pre marriage
state; when it was initially 772¥ or 79Rw?

! After the marriage the husband has a (new) right in the assets (392 >023) of his wife (including the rented cow).
Does this right make him a w"w or a ?XW on the assets; including the cow.

2 The X7 assumed at this stage that if he was initially a 997 and WnwX 0312 H¥3 is also a 19w, then the original
MW remains and it is not 2°2¥22 7MW, However if a \nwX °0312 Hv1 is a PXW, the current 2°9v22 79°Xw (which
normally would increase his liability) revokes the original M "3w and it is considered now D°%¥22 71MWw.

3 The query would be basically the same except in the opposite manner; if MWK °0312 Y¥31 is a R, the initial 72°Xw
would continue and it would not be 2°9¥22 7°R’w. However if M7 921 WX *03312 Hy3, the current 2°5vaa MW
(which normally would decrease his liability), revokes the initial 72°X® and it is now considered 2°2v22 7vnw.
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